18. For the function f, f"(x) = 2x +1 and f(1) = 4. What is the approximation for f(1.2) found by using the line
tangent to the graphof fat x =1?

A)06  (B)34 (O 42 (E) 4.64



19. Let f be the function given by f(x) = x* — 6x*. The graph of f is concave up when
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20.1¢ g(x) = * ~3x + 4 and f(x) = '(x), then [ f(x) dx =
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Graph of f’

21. The graph of f’, the derivative of the function f, is shown above for 0 < x < 10. The areas of the regions
between the graph of f’ and the x-axis are 20, 6, and 4, respectively. l.l{ f 10) = 2? what is the maximum value
of f on the closed interval 0 £ x < 10?
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2.1 fl(x)=(x-2) ’(x — 4)°, then f has which of the following relative extrema?

@Arelaﬁvemaximumat x=2

IB<A relative minimum at x = 3 _’_ —_ —_
relative maximum at x = 4 | ] i
’ L4
(A) Ionly
(B) II only > > i
(C) Iand Nl only J/ J
(D) II and II only
A 148

(E) L I, and I may



23. The graph of the even function y = f(x) consists of 4 line segments, as shown above. Which of the following
statements about f is false?

@) lim(f(x)- fO) =0 v~
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(E) lim f (xg :g 3) does not exist.

x=3



24. The radius of a circle is increasing. At a certain instant, the rate of increase in the area of the circle is numerically
equal to twice the rate of increase in its circumference. What is the radius of the circle at that instant?

) 3 ®1 © @ ®) 4



25. If x%y — 3x = y* — 3, then at the point (-1, 2), E’—

@ ®-L ©-1 o-2 ®7

Xg‘d@ Q\X% ey e ?)La

d 2 - aés
—4%“4-% A

pm F o Ay
= \\ %
H,l



26. For x >0, f is a fanction such that f'(x) = =% and f*(x) = -3, Which of the following is truc?
X

(A) f is decreasing for x > 1, and the graph of f is concave down for x > e.

(B) f is decreasing for x > 1, and the graph of f is concave up for x > e.
incnmsingforx>l,andmegraphoffisconcavedownforx>e. _

(D) f is increasing for x > 1, and the graph of f is concave up for x > e.

(E) f is increasing for 0 < x < e, and the graph of f is concave down for 0 < x < &2,

Sny=0 B = i X

=4 Rt ja | ] /r
= 4\ N ®
—t 4 = |- s
0 1 ‘r—’t—_—’— 4"
U 0
Do J’I’“ i
X 3
Daz



27. If £ is the function given by f(x) = j J? =1t d, then f(2) =
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28- I.f y - sin_l(Sx)’ then
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